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Erstellt von Paul Bachler 2008 0% - 60%
60% - 80%
80% - 100%
Andrea Sophie Martina Viktoria Valentin Zeno Alexander
Namen: Bachler Elena Egger | Horngacher Rieder Rieder Simon Astl Heiztinger Wienand Worgotter
1) StoR-Geschwindigkeit] 2] 2] o] 2] 3[ 3| 1f 1] 3] 3[ 2] 2] 2] 2f 2] 3[ 2[ 4] 3] 1] 3] 2] 2 2| of 2] 1
2 Soll: 3,00] 1 2 7|1 7] 2 2 3 2 2 1
Faktor (Y) 33,34 33,34 33,34 33,34 33,34 33,34 33,34 33,34 33,34
Points (@ x Y) 44 56 78 67 78 67 33
2) StoR-Geradlinigkeit] 3] 2] 3] 3] 3] 3| 3] 2] 3] 3] 3] 3] 2[ 3] 2] 2f 3] 3] 3] 2f 2] 3] 2] 3
2 3 3 3 3 3 2 3
2 Soll: 2,00 25 3 2,75 3 25 2,75 2,25 2,75
50 50 50 50 50 50 50 50
Summery| 169 193 192 190
3)WinkelBalle] 1] 1] 3] 2] 2] 3] 1] 1] o] 2[ 2] 2] 2] 2] 3] 2] 2] 4] 3] 1] 2] 4] 2] 3] 3] 2[ 3|
@ Soll: 3,00] 1,666666667 | 2,3333 0,666666667 2 2 | 2,666666667 | 2 3 | 2.666666667
Faktor (Y) 33,34 33,34 33,34 33,34 33,34 33,34 33,34 33,34 33,34
Points (@ x Y) 56 78 22 67 78 89 67 89
Summery! 225 215 94 69 4
4) Nachlauf-Wirkun: 7] 8] o] 12] 1a] 10| of 7[ of 12| 12[ 7| 12 12[ 7| 12[ 14 23] 23] 13| 23] 11| 13| 12] o] 7[ 12|
@ Soll: s,ool 8 | 11 | s | 10 | 10, | 13 | 12 | 12
Faktor 11,12 11,12 11,12 11,12 11,12 11,12 11,12 11,12 11,12

5) Rucklaut-Wirkung] 6] 5] 4] o[ 7] 4] 1] 2] 3| 1] 1] 3] 8] 10o] o[ 8l 11 o] 4 3] 6] 1o] o[ 8] 8] 3[ 6|
@ Soll: 7,00 5 | 6.666666667 | 2 1,666666667 | 9 | 9.666666667 | 4. 9 | 5.666666667
Faktor (Y) 14,29 14,29 14,29 14,29 14,29 14,29 14,29 14,29 14,29
Points (@ x Y) 71 9 29 24 62 8
Summery! 385 337 4 6
6)Kl.Pos-Bereich a| 1[ 1] 1] 1] 2] 1] of 2 2| 1] 3] 1] a] 2 1] 3] 2[ 1] of of 1f a[ 1] 1] o] 2[ 1
bl 2[ o] 1] 2 4 2] of 5[ of 2 2] 3] 2] a[ 2] 2 e[ 4| a[ 2] s| s[ 8] 2| 3] 1i[ 2
@ Soll: 4,00 1 2 15 2 15 3 15 3 15
Faktor (Y) 25 25 25 25 25 25 25 25 25
Points (D x Y) 25 50 38 50 38 75 38 75 38 .
Summery| 410 8 374 48 0 494 470
7)Gr.Pos-Bereich _a] 1] 1] o] o] 1] of o] o[ 1 1] 1 o[ 2] ol a] 1] s[ 3] 1| 1] 4 1] o[ e[ o] 1] =
bl of 2] 1] 2f 1l of of 1| 4f 1l 1] 3[ of of 2] of 2] of a] 4] 2f 6 of 2] 1
@ Soll: 5,00] 0 15 0, 15 1,666666667 | 1 333 15 3,166666667 | 0.8
Faktor (Y) 20 20 20 20 20 20 20 20 20
Points (@ x Y) 17 30 7 30 33 37 30 63 17
Summery| 27 [N 31 | 513 84 524 286 .
8)"PressBande”| o 2] of 3[ 1] 1] 2[ of of 1[ 3[ 1| of 1] 1] a[ 1[ 3] of of of 2 4 1] of 3] o
@ Soll: 3,00] 0.666666667 | 1 7 | 0666666667 | 1 7] o 1 7 0 2 1
Faktor (Y) 33,34 33,34 33,34 33,34 3334 33,34 33.34 33,34 33.34
Points (D x Y) 22 56 22 56 22 56 0 78 33
Summery| 449 |G| 403 569 606 6 524 8 520
9) Standardbalie] 2| o[ o] 3] 1 1| 1] 1] 1] 1] 3] 3 3] 1 o] 2] 2[ 3| 1 1] 1] 3] 3] 3
1l 1L~ 2 o~ of o~ of o~ 2 3[.~] o 2[.~T 2] 2.~ 3] 1i[.~]
@ Soll: 2,00 0.8 14 0.6 14 18 18 14 2,6
Faktor (Y) 50 50 50 50 50 50 50 50
Points (@ x Y) 40 70 30 70 ) 90
Summery| 289 433 639 696 866 504
10)8-Ball Sitvation] o] 1] 1] 2] of 2| 3] af of 2[ 1] 1] of 2f of of of 2f 2[ 2f 2] 1] o] 3] 2[ o
@ Soll: 3,00] 0.666666667 | 1 1 1 0 0 2 1 7
Faktor (Y) 33,34 33,34 3334 33,34 3334 33,34 3334 33,34 3334
Points (D x Y) 22 44 44 44 22 0 67 33 56
Summery[ 512 | 784 | 477 | 683 | 718 866 [ 660 | 946 635




